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Q.1: P1: Congruent Right Triangles Mark(s): 3/3

Which pair of the following clilia A 40Y) clilia) e zg) &
triangles are congruent? faalaia




Q.2: P1; Congruent Triangles Mark(s): 0/3

In the diagram. Jea) ‘_,3 ~
Name the congruent triangles. LCtataial) (pfilial) an
B
c
E E
A j
A v
F
- L B S PO B -
AABC = A DEF
a.
L BT,

AABC = ADFE

AABC Z=AFDE




Q.3: P1; Congruence of Triangles Mark(s): 3/3

Determine which postulate can be aldy lgaladin) (Sar Al daleaal) ada
used to prove that the triangles are OlElatia A0 o
congruent, M

Learning Outcomes Covered

o MAT.2.02.13.012




Q.4: P1: Measures of the angles. Mark(s): 3/3

Find the measures of the numbered JAad 8 ,al) Lig 3l ciluld aagl

7 146° >

Learning Outcomes Covered

o MAT.2.02.13.012

mZ1=17°, m£L2=17° v




Q.5: P1: Parallel lines Mark(s): 3/3

Determine which lines, if any, are =ij1,’.‘... (Sdag ) cCilagdioal) ,_ﬁi ads
parallel, so that m«3 = m 25. M43 =m £5 —a

L e e m e A LTI
N NN NN NN NN N NN SN NN NS NN NN NN NN NN NN NN N NN N N NN NN NN NN NN NN NN NN N N N N N N N NN NN NN NN NN NN NN NN SN N N N NN N NN NN NN NN NN N S N NN N N N NN NN BN NN NS BN NN NN N N N SN SN BN S ae .




Q.6: P1: Parallel Plane Mark(s): 3/3

P
Refer to the figure, identify (@ all JCal) e slaieNL
a plane parallel to plane ABC. {ABC 5wl pa Slgia Sgima Ada
A B
D C
ENU VF
H G 5
N T . are B mearen B e T .. T ST

EFG &




Q.7: P1:

Patterns and Conjectures Mark(s): 3/3

Write a conjecture that describes LA A ball) il A A jal) L)
the pattern in the sequence. Then 93 AU aad) alay dala B} andiic
use your conjecture to find the next LAt
term in the sequence. 100%, 93%, 86%, ... :RT:JJ:JSI s

Percent humidity: 100%,93%, 86%, . ..

80% sa AUl aall (Gl aall Chiai gb s S
Each term is one half the previous term; the next term is
80%

75% s Al aadl 7% ks Balad) 2al) o 2 as S

Each term is 7% more than the previous term; the next term

is 75%

79% sp Y sal) (7% Jahar bad) aalf e JB) 58 an S

Each term is 7% less than the previous term; the next term o
is 79%

76% o A sl (10% Jshas Bilall sal) (e S8 g8 as JS

Each term is 10% less than the previous term; the next term

is 76%



Q.8: P2: Distance between parallel lines. Mark(s): 0/5

Find the distance between the two -Oalgial) Crasiiceall Gy dluual) A3 )
parallel lines. XxX=9 3x=-1

x=—1land x =9

10
a.

-7
b.
c.

-10




Q.9: P2: Reflection

Rectangle DEFG has coordinates.

D(-3,4),E(—1,4),F(—1,—-2) and
G(—3,—2). Select the coordinates
of the vertices of the image after a

reflection in the line X = 1.

LAldls) DEFG Jakisal)
D(-3,4),E(—1,4), F(—-1,-2)
Ajpa gugyy lllas) S8 .6(—3,-2) 5

X =1 el Joa palSady) da

E(1,4),F(,-2),6'(3,-2),D'(3,4)

E'(3,3),F(3,-1),6'(5,—1),D’(5,3)

E'(4,4),F(4,-2),6'(3,-2),D'(4,4)

ol |

Mark(s): 5/5

>




Q.10: P1: Congruent Triangles Mark(s): 3/3

In the diagram, A
ARSV=ATVS .ARSV=ATVS
Find the value of x . s Sk .\aj

T

X = 12 Q'




Q.11: P2: Congruent Triangles Mark(s): 5/5

Given: A DEF and A JLK where A JLK s A DEF &bl
DE =JL, FD = K], LK = EF, LK ~EFsFD = KJsDE =JL &

~ = and = .
4D =2], LE = LL,and LF = LK LF = /K 3£E = /L 5 LD = 2]

flgaliiind (<o 40N i)

Which of the following conclusions

can be made?

A DEF and A JLK are congruent.
Jaikia A DEF 3 A JLK (LA

A DEF and A JLK are not congruent.

Sl & A DEFg A JLK oiall




Q.12: P1: The order and magnitude of symmetry Mark(s): 0/3

What is the order and magnitude of JLaN Al lafag wuiys g La
symmetry for the figure below? olial rasall

6,30°

3,120°




Q.13: P2: Isosceles and Equilateral Triangles Mark(s): 5/5

Find the value of variables, L) puiial) Aand aag)




Q.14: P1: Angle Addition Postulate Mark(s): 3/3

What is mz5 if o1y ms5 g L
ms5 =mz6 . . ms5 =mz6

ms5 = 45° Q!




Q.15: P2: Translation Mark(s): 5/5

The image of A(—3,—5) under a i Ledal)) s A(—3,-5) Bga
translation is A’(6,—1). Find the «B(3,—2) 83 224 .A'(6,—1)
image of B(3,—2) under the AalY) Gudl ey

same translation.




Q.16: P2: Exterior Angle Theorem Mark(s): 5/5

>

Find the measure of XYZ.  ZXYZ al® 2ag)

L4

T ~ i ... i e S, Ve 1 i s e .

e

o
WO
=
o
¢
[




Q.17: P2: Parallel Lines Mark(s): 5/5

Find y if mz8 = 68° ms8 = 68°0S 13 y aay)
and m 2 3 = (3y — 2)°. .ms23=03By—2)%

i oA,/ s oo 1 pmever vy oo oot e

-
et
Il
W
«Q
]




Q.18: P2: Proving Triangles Congruent Mark(s): 5/5

In the triangles ARST, AMNP, ARST s AMNP (i) 3
m <R =85° m £S = 33° and m Z£S=233° ym LR =85°
RT =17. .RT =17,

Which set of the following aon ) Gslial) e ds (5‘

measurements would make ¢AAS Z:.)h.. r‘ 23l ARST = AMNP

ARST = AMNP by the AAS

Theorem?
E MP=17mZ M =85°m ZN=33° ° E
1w PR, W PRV V.S LI TS Ve, N PV. G S . S D ]

MP=17mZM = 33°m £N =85°

MN=17mZ M =33°m £ZN=85°




Q.19: P2: Line Equation Mark(s): 5/5

Write an equation in slope-intercept ahaially Joall 8) gucs pufiicual) Adalaa S|
form for the line perpendicular to y= —% X+ 1 Ao sagandl aniiusall
y=- %x + 1 containing (—3,6). - (—3,6) gy (5.'11!

Learning Outcomes Covered }

o MAT.2.02.13.012




